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And for instance, that it is detrimental for others - 2318Y 2w 71329

OVERVIEW

The R na states that there is an occasion when a 7 is not believed to claim that
the "vw he is holding is a 7inX 7ww. This happens when by his admission he
causes harm to others. The case is where 21X (the first m?n) lends money to
Mynw (the first MY). In addition "% (the second mMmY) owes money to YA (the
second m%n [and first m?]). According to the rule of 197 XTavw, the first Mo
(J21%7) can collect directly from "7 (the second m?). If however Nw»w claims that
"% owes him no money and the 0w he holds against "% is merely a 7358 0w,
then 7218 (the first m?n) would not be able to collect from "7, if NWwnw is telling
the truth. The 1°7 is that DY»w is not believed to claim it is a 738 WY since he is
causing harm to j2WX1. A person is believed only to obligate himself but not to
obligate or cause harm to others.

There is a ruling from XMW that w2 108 22 Y90 M 1Ak n'ow 1m0
omn. This means that if "% owes YAW money w3, and NynY sold this "W to
129%7;! now 72X (and not 1WAw) has the right to collect the monies of the “vw
from 9. Nevertheless 1wnw has the right to be Y2 M the 21 and 12187 will not
be able to collect the 211 from "%. If Nynw died before 12187 collected the debt
from "9, the heirs of N¥nw may also be 2mn the debt to "7, preventing 12181 from
collecting on his purchased r"vw.

ndOIN asks:
- 3359 95153 533 INT 293192 79319019 9IRD ON)

And if you will say; let us believe the Mm%, who claims that it is a 738 0w,
with a w», for if the M7 wanted he could have absolved the 7% from repaying
him. If the m%n would be 5mn the M7, then the o™X (those to whom this M%» owes money),
would lose their right to collect from the m%. This power of the m%» (to deprive the o> nX
from collecting from his M%) should also apply when he claims that it is a 7R 0w, thus
causing the o™X to lose the ability to collect from the m?.

mooIn will prove that the M1 has the right to be >mn a loan even if it harms others.

' The price paid for such a n"vw is usually discounted from the face value (the amount of the loan) of the n"uw.
The buyer has to wait for his money and is taking a risk, for the m? may not pay him.

* See “Thinking it over’ # 1.

? See “Thinking it over’ # 2.
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= (3,79 97 1999 DINM 1INHNMY TN 19°2NY 2IN YLV 99991 XNT
For if one sells a documented loan to his friend and went back and forgave

the Mm% from repaying the debt, the law is that the loan is absolved. The purchaser
of the note cannot collect from the m>.* We derive from this law that the m can be 5mn a
loan even if it causes a loss to others. The same power should be applied, through 3, if he
claims that it is a 73X q0W. The question is as follows: We derive from the 17 of (9xww that)
31 17an 1"uw 95mi, that a M9 has the right to be M a 211 even if it causes harm to a
legitimate buyer. It is therefore assumable that the same applies in a case of 1"77 ¥72yw. If the
second M7 is P the second M7, the 77°mn is valid even though it causes a loss to the first
mbn.” A person has a right to be »mn a 21 even if it causes hardship to others. In the case of
71K W the only question is whether the Mm% is saying the truth when he claims that he is
holding a 712X 7vW (since he is harming someone). It should be assumed, however, that he is
telling the truth, by virtue of the 1»; because he could harm the first m7n regardless, by
openly being ?mn the 2.

N1B0IN answers:
=920 1P09ND DINNKY INYT PR RNDYT NIN 1D INDT 99D U

And one can say that this is no 1%, The m>» will not want to be 2 the loan,
for perhaps it is not his intention (even when he claims X177 712X q0W) to give

up and lose his loan —
- 19T MIYN PNT ST P09 KY NN NINN MMINY PYIYT

For now when he claims that the q0w is /%R the MY is not losing anything
for the /> is not a robber. The 779n is sure that the i will still repay him, for he owes
him the money. ' However if he is Ymn the 21 outright then the 1> will not (have to) repay

him. Therefore, since there is no a1, the M%n cannot claim 7K, for we do not believe his
admission when it causes harm to others.

* There is a discussion in 7917 17"7 2,7 2"2 MooIn as to the liability (if any) of the 15w to the np>.

° One may even argue that it is a 1"p. If a 791 who sold his 7vw and (seemingly) gave up his rights to collect
from the MY, may, nevertheless, be 2 the 217 and harm the innocent buyer who explicitly bought this 70w to
collect the 21m; then certainly a bona fide m%n can be 2mn a 211 to his own M7, even though he may be indirectly
causing a loss to his own m>n, by denying the first m>n the opportunity to collect his 21 from his m? (on whom
he (the first 7791) did not necessarily depend on originally when he made the loan to the first 779).

% The term 13 here may be interpreted slightly different than usual. n1991n is saying that there is no concern of an
o nR?, for the M9 could just as easily be 5min the 211 and cause the 0°R? an regardless. Therefore since there
is no 0>k an we should accept the n877 of the M%7 that it is a 73K VY (see 17 MK 7"510).

7 The m%n is claiming 73X 70w to prevent the third party from collecting from the 1%. He is hoping that the m>
will eventually pay him instead of paying the third party. See ‘Thinking it over’ # 3. [However the m%» is not
concerned that (since the M2 is not a 171) he will pay the first m>n (as is required by 1"17 X712vW), because
[perhaps] paying one m>n instead on another is not considered 72°13 (and the second 719 will ‘sweeten the deal’,
somehow, so the Mm% will pay him).]
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mooIn anticipates a difficulty:
= 929 N8 232 NINN ONND M 19299N (ow '3,5 91 NYINN NAIT NP 799 91027 2) DY 9N

Even though that in the end of the first P22 of »''2 n>on we do say this type
of a 1»; that (s)he could be mn, concerning the case where someone found a
receipt for a 7215 payment; the Xn»"2 there says —
- HYah PN NN NYNRNY I

In a case where the woman admits that she wrote the receipt and received her
720> payment from the husband, the receipt should be returned to the
husband as proof of payment.

-ToNIMYTY RIPIR N3 YNV NNDT
The X 1) there states that we derive from this ruling that s™»X™»w ruling of
231 Y9mmY 17T 17°an n''ow T5wan is correct.

moDIN question is that just as we say here that the m» is not believed to say X7 71X and be
2R 2n with a 2 of 77°12 (because he does not want to be 2mn the 217); the same should
apply there. How does she have the 1n there that she could have been mn the 721132 She
does not want to be Smn the 72103, for then she would definitely not collect her 721n2.
However if she just verifies this (false) 7121w, she imagines that she will still collect from her
husband, for he is no thief. The husband knows that he still owes her the 723n; the 22w

8 In our X3 it is on 2,v° and R,D.

? There is reason not to return the 921 to the husband even if the woman admits to writing it and being paid. It is
possible that this woman sold her 712103 rights to someone; that when she will be divorced (or widowed) the
buyer will have the rights to collect her 72105 from her husband’s estate. The woman may have written this
(false) receipt prior to the date of sale of her 721n2, but actually gave it to her husband after the sale took place
(rendering the receipt invalid, for the 712112 now belongs to the buyer). When the buyer will come to collect the
72103, the husband will present the receipt which predates the sale date and claim that he already paid his wife
the 172105 before she sold it. On account of this concern we should not return the 221 to the husband, for it is
possible that the husband and wife are in collusion to deprive the buyer of his rights. The fact that the 72w was
lost and not held in safekeeping gives credence that something is amiss. The fact that we do return the 72w
indicates that there is no such concern. The reason that there is no such concern is that there is a ruling of 2w
that 9w 12mm1 171 1°an% n'vw 70ma. Therefore the woman has the option of being ?mn her husband from
paying her the 712112, even after she sold it to the buyer; in which case the buyer would anyway not be able to
collect. [The 712103 is the equivalent of a 7"vw that the husband owes monies to his wife. Let us assume the 72103
payment is two hundred nr. The woman sold this 72105 note to a n> (on & n") for fifty 11 (the note is
discounted since it is possible that the husband will never divorce his wife and she will predecease him, and the
buyer will receive nothing). She wrote a receipt on j0°1 1"9 that she received her payments. However, she
actually received her payments in 11°0 (or did not receive any payment at all). The n17 is due the two hundred 1,
but she would rather keep the full two hundred 17 for herself; even if she will have to return the fifty 117 to the
buyer (because according to the 7210 it was a bogus sale; she already ostensibly received her 712102 on 1071 11'"),
she will still realize a profit of one hundred-fifty 1r.] The woman is therefore believed to claim that the 12w
belongs to her husband, because (even if she intends to cause the buyer a loss) she has a 2 that she could have
been 2 the 72105 and the buyer would suffer the same loss. This concludes the explanation of the X3 in n"2.
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notwithstanding. What is the difference between our X113 where we say there is no W of 72°mn
(because he does not want to lose his debt), and the X773 in n"2 where there is a 3 of 72mn.

mooIn responds:
-*n917 92)Y XIINT DIVN 171 93 1IN 1992170 ONN NIY

Perhaps there in »"2 we can depend even on a meager %, for there is a
receipt that proves that the woman is saying the truth. In n"a this flawed » is sufficient.

mooin offers an additional answer to the original question why the %7 is not believed with
the wn of 7% mn:

= PV INN MN “mﬂ‘m NIN 19N 29N 90V NHI9197 9N ON)
And if we would assume that selling a n''vw is not valid 7707 2, but only

122977, then the question would be properly answered —
= 290590 D19 1339719 21T 2IN TVY 991 RPIT 9199120 1208107

For we will be able to argue, that only when one sells a i''vw, where the sale

is only valid J3377»; it is only then that the seller can be M the loan, and the

buyer suffers a loss; because the buyer only owns the right to the 712777 ,27 not 707 m.!?
= DINNY DI 1N AINN 1 1D 29N 11D 193N AW YaN

However, in the case where one has a claim against another, etc. In a case
where the mY of the original Mm% is also a Mn to a subsequent (and second) M?
so that the second m? is obligated 779057 3 to the original M%7 (on account of

1"77 X7Mavw); in such a case, the M? of the original M>» cannot be 2m% the debt
owed to him by his (subsequent) M7, for his m? is already obligated 7707 1 to the original
mon.

' The previous argument against the 13 of 72mn does not completely destroy the v2; but rather it renders it
flawed and weak. There is a possibility that he risks losing his debt by claiming 714X just as by being 2n. The
two claims may be equally detrimental. There is a difference between the claim in our X7n3 that it is a 718 W
and the claim in n"2 that she wrote the 72w. In n"2 we found a 72w which states that the woman received
payment. The woman is substantiating that which is stated in the 72w. Therefore, even though there is a
possibility that there is collusion between the husband and wife, nevertheless the (meager) 2 of 1%nn is
sufficient to believe the woman that the 12w is correct. In our case however, the m%» is claiming that it is a 0w
71aX; he is not substantiating the 7vw but rather he is contradicting the 7vw. In order for him to be believed to
contradict a 10w, a proper 21 is required. The 2 of 72°m1 is insufficient because it has a flaw. He may not want
to be 9 and thereby lose his 2.

' See 72mA 71"7 2,72 77 MO who explains that by selling a 7"vw nothing of substance is being sold (except
where the M owns ¥pp), therefore it is a 77751 only 132775,

"2 It seems that 77077 72 the ¥ still owes the money to the m». It is only that the 7127 gave the buyer a right to
collect the money (in return for his payment); not that the m?% actually owes it to the buyer. Therefore if the Mm%
is 2mn the loan there is nothing for the buyer to collect. D°117nX2 .

"> mipown answer is that one can be v a 217 if it harms others, only in a case where the others (who are being
harmed) are not owed this 7707 1 237 only 132777, In the case of "121 11°an n"vw 127, the purchaser of the n"ow
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moon will now offer a proof that when the obligation to pay the 2117 is 7707 12 then it cannot
be 21 by the original giver.
= (ow) 3,17p 97 XM Na3) NNY I P92 YNYN 1Y

And it also seem so in NAW 3% P95 that if the gift is valid "7 then the giver cannot be
omn —

- 951 919 1998Y My 299w NINNa 1M OXT ININY AT MNINPT
For the X3 says there that ®Xmw admits (concerning the rule of 1"vw 15m7
21 YonmY 171 17°an? and even the heir of the M2 can be 5min) that if the M5
transferred the 2117 to another (not through a sale but) through a sickbed gift; the
heir of the M (i.e. a son who did not receive this loan as part of his

inheritance) cannot be “m% this 211 (even though that generally the (M and his) heirs
can be % the 217 (VW) that he sold) —
- 9INNY 5135 PRI ERIINNT YN 29W NN PIOM

And the X713 concludes there that a sickbed gift is transferred to the recipient

707 3 and therefore the heir cannot be ®m% the 2. The X m3 continues —
= 210119 5192 19N INNAN 12971 TNYT XPYO INY
For if it would enter your mind that a »"2w nin» is valid only j1297%, why
cannot the heir be ®m% the 2. This concludes the quote from the xn3.
= DINNY 5159 19N NNIINT 79027 YIVUN
It seems from that X773 that concerning 5790 matters the maker (or the heirs) of
the 70w cannot be ®m% the loan. The (only) explanation the X713 gave why they cannot
be Smin is because the transfer is valid n";». This supports M0N0 contention that there is a
difference between n"vw 3317 which is valid only 112777 and therefore the m%» can be mn;

and by 1"17 XMavw which is valid X877 and therefore the second m%» (the first M) cannot
be 7 the 21 of the second MY (that is owed n"n [through 1"17 RT123W]) to the first M.

mooIn rejects this last proof that if there is a n'"77» 21°17 then a 7%°17 is not valid:

is not owed money by the 71077 11 M2 only 1312777, [0 11 the M still owes the money to the original m%», not
to the buyer.] Therefore the original m>» has a right to be 2mn the 2. If however, by being mn a 211, harm is
done to one whom monies are owed to 77077 11, the 72°mn is not effective. In the case of the three people where
the first Mm% owes the first M>» and the second M owes the first 717 (the second 7197), then 77077 37 the second
m> owes the first M. Therefore the first M> cannot be ?mn the second M and prevent the first Mm% from
collecting from the second m?. There is no question therefore why is not the (second) mn believed that “vw
X7 7K with a 1w of 19°nn, because indeed the second m%» cannot be M his 2n. The first m>n can always
collect from the second m>%. The answer is that one cannot be 7m a 211 that is owed 771077 77 (both to the person
who is being %M and) to the person who is being harmed.

' The rule is that a ¥ 22w, one who is sick and lying on his deathbed, may bequeath his assets to whomever he
chooses, even by word of mouth only, without the usually required °1°1p.

' The xm3 there subsequently rejects this reasoning and says that a 2" nin» is only 132775 717; however the
0°mon gave it the same power as if it was a Xn»7KT.
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= DINNY DI YA PN RNIINT ¥ 255 NIND N INT ONNT MNTH YN
And it is possible to reject this proof for there by the case of the heir of the
n"ow, certainly if a sickbed gift is valid 777 077 %, then the heir cannot be Hm%
the 27 and deprive the recipient from collecting the loan —
- 109995 s WY IND NINTIN SN
For why is this heir, who wishes to be m» the loan, stronger than this heir,
who received his power to collect the loan through the n">w. Both parties, the recipient and
the heir, are not the original m%n. Therefore the heir is not any stronger than the recipient and
cannot be ?mn the 21 and deprive the recipient from the power granted to him by the »">w. 17
However in our case of 1"7 X7avw the first M is the original M of the second Y.
Therefore even if there is a n"7n T2AYw from the second MY to the first M»n, nevertheless the
72vw stems from the loan of the second m>», who is the primary m>» to the second m>. This
second MY is stronger than the first M%» and can therefore be S the 2. The proof is
therefore rejected.

moYIN brings an additional proof that in the case of 177 XM2yw the second mM>n cannot be MmN
the 2m:

= 21019 519 139X 19°2N12 19°2MY 19°aNa AYNNYT NN NYAND U M
And it is possible to bring additional proof that one who has a loan by his
friend and that friend has a loan by another friend; in this situation the
second M7 cannot be ®m the 2 —
= 032 NIV NN NN NN PNNI NI NINAY 297 (3,80 10pY) VDIV NYNN 91D 19999NT
For the Xn>132 states in the end of Y21 WX P79 in a case where one
brother (32187) was owed money by his own brother (}v»w) and 12187 the m»

died without children and he left over his wife waiting for her brother-in-law,
NAw the M2, to be 02 her —

= NPIND W 2N DININ 9N ND
v should not reason since I am the heir of 12187, I have taken possession
of this debt. In addition to being a brother of j21%7 which entitles 1Wwnw to the 7w17*; when
NYnrw is 02™n the wife of 12187 all of s'12187 assets belong to Ny»w; including the debt that
N¥nw owes 12X1. Now 1wnw is the owner of this debt. He may argue that this debt is now

owed to me. YW cannot say that and wipe out the debt (from himself to himself).
= 193 5395 NY NP MO DIIN NINI MYPIP 193 NPIDI 11910 PNREIN NIN

'® He is not necessarily an heir; however Mmoo refers to him as an heir with equal power as the natural heir,
since n'">w ninn is N,

17 When the X explained that a »n"2w ninn cannot be %rn1 since it is n"7n, it did not mean that when the ar is
owed money n"7n there can be no 77°’mn. Rather the X3 meant that since »"2w ninn is n"in then the heir who is
n"7n WA is no stronger than the recipient who acquires his gift also n"in.
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But rather we take the monies owed away from 1'v»2 and we buy fields with
this money, which now belong to the wife of the deceased and Ny»w the new

husband consumes the produce of these fields. The fields themselves,

however, belong to the woman. The X713 there explains that we establish that

this Xn>12 follows the view of 3" —
= H2N9Y AY TaWN NYYAY TUN Y97 153N 152N 1131 1I%ANA NI 19D M NNT

For the case in this Xn*72 is similar the case of 1"77 X72vw, where a person has
a claim of a ;7 against his friend and that friend has a claim against another
friend. The X773 explains how the two cases are similar; for everything that
her deceased husband owned is indentured to the wife as payment for her

712302, Therefore it is as follows: 7231 (the deceased m>»n) owes his wife all his assets
(including the loan to Nvnw). Nynw owes 721 the debt. Nwnw therefore owes the debt to
s'121%7 wife on account of 1"77 X712¥w. Therefore he must give her the monies to buy a field
and he eats the mM7°9; as the 17 requires with any monies that a woman brings into a marriage.
This concludes the explanation of the X723, Now m»oin commences with his proof —

= DINNT 919% Y XINY MKYY DINNDY ¥PIP 1D NP INNN DINNY 9139 N
And if the 1°7 is that by 1"17 XM2vw, the second mY» can be %% the 21 why
should fields be bought with this money and given to the woman, let 17v22 be
b the loan to himself, for he is the heir of j2%7; he is now the m>» of
himself; and as a M%7 he can be %! Originally 12381 was the m» and Nwnw the m>.
However by the process of 012°, now 11wnw, who inherited all the assets of 12187, is the m?n of
1w, He should be capable of nullifying the 2117 (as the second m%n). The fact the X3 states
that he cannot be 2 this 211 and must pay the first 79, proves that the second Mm% cannot
be %min the 2117 to the second M?, and deprive the first MY from collecting the 2117 from the
second M?>. Therefore there is no question that the 771 has a 2 of 77’1, since by 1"17 XMW
there can be no 117°1n by the second mon.

mooIn rejects this proof as well:
= N2 YIPANY 5133 1N NNIN NIN WY PRT 0NN SINYT MINTH ¥

And it is possible to reject this proof.'® For by nn2 it is different than a
regular case of 1"77 XT2yWw, since V1Y does not inherit the assets of J121X7 on
his own merit, but rather he inherits j23%7 on account of the woman."”
Therefore he cannot dislodge her interest. He cannot deprive her of her due, on

'8 Generally in a case of "7 X721Ww the second M can be Y the second mb, even though he is depriving the
first m>n from collecting his debt from the second m>.

9 1f 1w would not marry the wife he would not necessarily inherit the assets of 12187. Therefore since s"ynw
claim to s'12X7 assets is based only on account of the woman that he is being 22™n
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account of his w17, since his whole 717 is due to her.?’ However in a regular case of XT12yW
1"37 where the second m%n is owed the money on his own accord (not because of the mn
WRI) he may have the right to deprive the wX1 M» from collecting, by being 2 the M2
1w. This proof is rejected as well. The question would then remain if the >3 m%» can be M
the 211, he should be believed to claim X377 73R with a 22 of 7207,

- 999 YV 1290 DTPY DINNRY 9199 29N IOV 1903 XPYTT DIWIan Pun]
[And others explain and answer this question that only when selling a n''uvw
can the M1 be Ym» the 211 even though he harms the buyer because the debt
to the seller (the m%n) preceded the obligation of the m> to the buyer. Originally the M
owed the seller. Subsequently after the sale the Mm% owes the buyer. Therefore since the
original loan was against the m%» and the buyer was not involved at all, that is why the m°n

can be Ymn.
- 5N1Y 9199 19X 19%3M YV 2INY 1IN DTPY 153N AW YaN

However, in the case of one who is claiming a debt from his friend; where his
loan (from the first m>») preceded the loan of his friend (from the second
mon); when the second mY» lent money, he already owed money to the first
mn; in this case the second MY cannot be »m¥%2. When the second m%» lent the
money, automatically the second mM> was already 7a0wn to the first 79, He never was a m>
only to the second m%»; he was immediately a m? to the first m%» as well because of X712WW

1"37. Therefore the Tavw of the first M7 prevents the second m%» from being able to be 2mn
the 21m.%

mMooIN continues to explain the case of the 02> 7MW on this basis:
= [NY¥3 2INY NN YOV OTP 23 DI NIV

And also by the case of the 23> na»w, her note of indebtedness (in which her
husband owes her money for her 7721n3) preceded the debt that was owed to her
deceased husband by his brother. There is a similar situation; where the party who wishes
to be mn the 21 was already indebted to another prior to his lending the money to his ™.
The husband lent him the money after he married this woman. Therefore the surviving brother
cannot be 5m»n the 1 which he inherited from his deceased brother, since the deceased
brother was already indebted to his wife prior to this loan. The surviving brother initially

%0 See 301 Mx 2",

I See "0 1"50 0N that the bracketed statement is from 221w NBON.

*2 This should not be interpreted to mean that the »" are of the opinion that 1"17 X71ayw is only in a case where
the second M? borrowed from the first m> after the first 7% had already borrowed from the first m7». The 7 of
1"97 R72vWw applies even if the first M7 borrowed after the second M7 borrowed from him. The n" are merely
arguing that there can be no 72°mn if the i lent his money after he already borrowed. See (however) y"2y.
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owed the wife the money. There can be no 12°nn if the present M2 initially owed the present
mon. 2]

mMooIn has a final 22 question:

- (3,595 PA77IT) S TN AT 9103 12VANT NINTP P2 INT 1IN N9IONI SNIN NN ON)
And if you will say; that we should still believe the m%n that it is a 71K VW
with a 1% for he could have burnt this "vw which he presently claims is a 0w

712K, as the X7n) states in the end of 9912 77 P9, If this (second) MY» would have
burnt this qw (which he presently claims is a 71K W), then the first m?1 would not be able
to collect from the second M2, since the first M>n has no proof that the second M? owes
anything to the second m%n. Therefore the second Mm% should be believed that X7 738 0w
and deprive the first m%» from collecting from the second mM? with the 13 of 7°n%p >va °X!

Mo0IN answers:
= N7 23 PINNN NINT 99D U

And one can say; that here we are discussing a situation where the 0w was

already established in 7''52. It was already known by 7"2 (before he claimed R 0w
X177) that this M7 has a 0w —

- B13995x NY 19095 533 AN NIMT 533 PINHNT 113 BN 1>IINT
For the Xn3 states there, that since the 70w was already established in 7''52 we
do not honor the argument that [s]he could have burnt it.

mooin offers an additional answer to this last 14 question:
$YITY 92 NI TOYNYD 199910 NIN M) ON

Or you may also argue, that here the X723 is discussing a situation where the

Tuw was in the possession of a third party. The m no longer had the option of
burning it.

SUMMARY
nooIn asked that the m9n should be believed that it is a 7328 “vW since he has a
22 of 79nn.

» According to the n"™, the case of 7R "vWw, where the 7797 is not believed, is limited to a situation where the
purported 71X Ww ‘loan’ took place after the loan to the an. Otherwise the m1yw mIak 70w would be accepted.
Similarly in the case of nn2’, the loan to the brother took place after the marriage. Otherwise the surviving
brother could be 7 the 211.

* The case there (on X,%) involved a m>» and M who deposited a n"vw by a woman. The woman presented the
quw when they came to 73, and claimed, however that the 772 had already paid up. According to one version,
she was believed for she has a 1»; she could have burnt the 70w and the 7%» would not be able to collect.

* This follows the second version that she was not believed, since 7"*2 was previously aware of the Tvw.
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moon answered that the W of 7%nn is inadequate (since the Mo is
contradicting the 7ww) for since he does not want to lose the 211, he will not be
onn.

An additional answer is that 7%°n» by 0°3nx> 2 is valid only when the 2n owns
the 1312777 21 (as in 17°an% 1"vw 51M7), but not when the 2n1 is owed the 27
RNMMIRTA (as in 1"77 XT2WW).

[The n"> answer that 1%°nn by 2nX? 2n is valid only when the an was not
initially owed the money (as in 1"vw 7217); however when the 2r was initially
owed the money (as by the 772 and [conditionally] by 1"77 X72ww) then the 2117
cannot be 7rn1.]

There is no 1 of 7°n%p *va °X either because the n"vw was 7"°22 PINX or it was
wHw 1.

THINKING IT OVER

1. mpoIn asks that he should be believed that it is a 73X Www with a ¥» of
72°mn.2® Seemingly this is a 07y D1pn2 Wa. The W Y 0INnT o7y testify that
it is not a 7K W (and therefore if R DPnn KXY °"Nd the WA *7Y are not
believed to say mnx.).”

2. moon asks that he should be believed that it is a 71X “vw with a W of
72°mn.>® Seemingly, we cannot believe him that it is a 7nX q0w since he is 2w
Y2 My by keeping a 71mX 70w in his possession?*

3. What is the difference if the m%n is 2mn the 27 outright, or if he says it was a
7K w? A 7Kk 70w means he never lent any money to the Mm% and therefore
it is tantamount to an admission that the 7% owes him nothing! What would be if
the m» claimed that the debt was paid?’’

4. Can the second m%»n be 5rmn the 2111 to the second M2 in a situation of XT2YW
1"77?

% See footnote # 2.

27 See 1 NIX 7"20.

2 See footnote # 3.

» See "1».

30 See footnote # 7.

31 See 1"07 MK DY MIDWA.
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